—_—t

BHiEs SM402022)FEEFE
# B RAEFE | RREFE | RIFELE HE
TIRADER
W RE-FfT 2,130,000 | 2,170,000 | 2,099,000
(2) ZDHhIR#x 0 0 6
ZHRR A &L (A) ¥2,130,000] ¥2,170,000] ¥2,099,006
Ail ’fé’v%f?. B 1,878,972 [ 1,590,507 | 1,590,507
IRA & &t (B) ¥4.008,972] ¥3,760,507] ¥3,689,513
2. X HDEB
(ORI 530,000 550,000 497,374
) BEE 278,400 291,400 281,018
Q) REHE 180,000 0 0
(O 55,000 100,000 0
(5) FEEL 352,500 300,000 300,000
(6) BHE 274,400 274,400 231,788
1) #65 500,000 500,000 460,000
(8) X FHH 50,440 50,440 35,945
) FiEZE 1,788,232 [ 1,694,267 4,416
X HEE(C) ¥4,008,972| ¥3,760,507| ¥1,810,541
|UR 37 2= 2E(A)-(C) ¥-1,878,972|¥-1,590,507  ¥288,465
| REA#EH £ (B)-(C) ¥0 ¥0| ¥1,878,972

ERROBYRENLEY

SF4E5H208 BREREHR HKETF
# H RAEFH | RIEFHE | RIFEERE
1UXRA DEB
M) £&-F{T
) F£E5E 1,500,000 [ 1,500,000 | 1,397,000 |£& %k, RESESD, MESEO 3714
PEESS 530,000 520,000 296,000 [B34F (20204 A%E) | 24F (2021 A%) . SEEMRA . KRS
3) Bt 100,000 150,000 113,000 |R3ZE#E334
4) ZDith 0 0 293,000 [R3EEIFIFZLLFZE
2&-Ff1E 2,130,000 | 2,170,000 | 2,099,000
@) ZoHbIREs
1) SZEFISR 0 0 6
2) ZDith 0 0 0
Z DI ET 0 0 6
ZHRUR A & 5T (A) ¥2130,000] ¥2,170,000] ¥2,099,006
BT IRE S ¥1,878,972| ¥1,590,507| ¥1,590,507
IRA &5 (B) ¥4,008,972| ¥3,760,507| ¥3,689,513
2.7 HDER
(1) FNRIZ
1) T—3h—F-1E#H:E 530,000 550,000 497,374 |FIRIERERD T (R—LR—CFIA)
NI & &t 530,000 550,000 497,374
2 BEE
1) T=3h—F&ERE 240,000 260,000 242 111 [RZBBOFEFA—ILFIR)
2) T=HAN—FREE (BEHEERMN) 23,400 23,400 24180 |R3E#MIZR3.2H ~R4.H 533108
3) ZOHDBEEE 15,000 8,000 14,727
BIEEE 278,400 291,400 281,018
() KEE
DIEEEESSNRE -BAE 120,000 0 0 |OFBAIEERML, EERICEESNDRIREENHD
2) WKkESRESNKRE 60,000 0 0
RBEEE 180,000 0 0
JOES: :
NEEZAR 5000 0 0
2) BE= 50,000 0 0 [DoFBslEMERBL. FERCBESNDIENEN DD
3) PURTILE 0 100,000 0
SEER 55,000 100,000 0
(5) FHE
DEEEE 300,000 300,000 300000
2) 2ERS 52,500 0 0 (10%2 LELRBOFE PH. KFERELIZ500M/ KNECT
FHERET 352,500 300,000 300,000
(6) BHE
D EHALRE 50,000 50,000 7,388
2) RSV AT L 224,400 224,400 224,400
EHRE 274,400 274,400 231,788
N #E5
1) HFkics 500,000 500,000 460,000
#8555t 500,000 500,000 460,000
(8) I FHH B
___________ SERAFHH 50,000 50,000 35,505
2) Z DA FEH 440 440 440
XIFHEE 50,440 50,440 35,945
9) FEZE
) TiEE 1,778,232 | 1,684,267 0 |SVRSY LEEED
2) RE 0 0
3) =B L& 10,000 10,000 4416
FiEE 1,788,232 | 1,694,267 4416
X H&EE(C) ¥4,008,972| ¥3,760,507| ¥1,810,541
IR% Z=EE(A) - (C) ¥-1,878,972|¥-1,590,507]  ¥288.465
REAfEHSB) - (C) ¥0 ¥0| ¥1,878,972
[FOFBE O FBEEIZHRV-ZHEEHEE D | ¥2230,740] ¥2,076,240] ¥1.810,541]

[Imx%=z0A) - D)

| ¥-100.740]  ¥93.760[ ¥288,465|




